Beethoven, Op. 37/i

Example 1

antecedent

caesura fill

(Allegro con brio)
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‘Beethoven’s Error?’ Examples

Dussek, Op. 49/

Example 2

(Allegro ma espressivo)
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‘Beethoven’s Error?’ Examples

Cramer Op. 26/i

Example 3

antecedent (c.b.i.+continuation+cadence )

B

(
o~ M '
- g
(
€O
(Yl
N o
[ Yl
[ Y o
L Sh
- (Yl
Ky o«
TN
HH [y
LYl
(118 ClE
ﬁ Ll_V\
Ll (YN
3l i
(11A %
o Rl
L I B
L ¥
Rl
—
Rl
R —¥
[ 150 B
¢l B
o]
o 1
8 Bl
“m ¥
z s M
B N 2 ¥
m HW_“M HM“—H
Mhlnmwv np/

consequent (c.b.i.+continuation+cadence )
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‘Beethoven’s Error?’ Examples

Example 4
Steibelt, Concerto No. 7/i

B consequent

c.b.i. as basic idea
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‘Beethoven’s Error?’ Examples

1. 'x' as A-theme continuation
10

Hummel, Op. 85/i, uses of ‘x’

Example 5
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‘Beethoven’s Error?’ Examples

antecedent

B
(Allegro)

Example 6
Ries Op. 115/i
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‘Beethoven’s Error?’ Examples

Example 7

Czerny, Op. 214/i

B

period as antecedent

antecedent

consequent
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‘Beethoven’s Error?’ Examples

Example 8

consequent

antecedent

B
(Allegro maestoso)

Moscheles Op. 64/i

39

-
=

-
=

N I
_- L)
J1 %
)
e
N
ﬁdwwxc
- \.# b | [~
L)
TN JE
| 1NN, A ~e
LUI|“WI
L]
L)
\] h
b 5
&uﬂk un&
2 Ea
o L wL
NG N
\ V4

standing on V

antecedent

B!

o 4
¥ 17
I bl
—

f
e

HE o

fe

7]

o o o o
| el e e N

: 5 3 |3 r- |

P

o
y O k]
o
T

ey @ vV O

rax

consequent

t—] Lasm——

-l

-

(a4t
o LT |
T

53

| fanY

o

o)

F KR - k.
ki
il

L d

2L o9 _

oo

—
!

oita- oig- o,% 4

#t

oo Yo o
il 1l o

[;E ; he —3

-I :PAC




‘Beethoven’s Error?’ Examples

Example 9

Ries, Op. 151/i

expanded caesura fill

(Allegro con moto)
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‘Beethoven’s Error?’ Examples

Pno. {
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‘Beethoven’s Error?’ Examples

Example 10
Bennett, Op. 7/i
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‘Beethoven’s Error?’ Examples

Example 11
Chopin, Op. 21/i

Pno.
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‘Beethoven’s Error?’ Examples 13

Example 12
Beethoven, Op.19/i
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‘Beethoven’s Error?’ Examples 14

Example 13
Beethoven, Op. 15/i
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‘Beethoven’s Error?’ Examples

Example 14
Beethoven, Op. 58/i
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Example 15
Beethoven, Op. 58/i, comparison of R1 RT and B¢ and S1 B2 and B¢
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